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char fl (char cl, char *xl)
{ char ¢2;
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c2=(cl>="a' &&cl <='2)?(A'+cl-"a):cl;

return ¢2;
void main( )

char x=getch();
cont <<x<<f](x,&x)<<x;
}
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&(*n)=n

widget f{widget u)
{
widget V(u);
widget W=V;
return W;

}

main( ) {

widget x;

widget y = f(f(x));
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double (s

Afi]=2(*) i=0,1,2,...,9

i=0;
while (A[i]! = A[++i])
A[i+2] - = A[i+1];

)|.3 o0 (9

DdD (» DDd (o DDD (.l

1ol T Al (ols £95 51 puito Sy 1 SS1 Y Jlgas
&n=n(z * (&n)=n (o *n=n (all

35050 (Sle 0 ouijli 2l andd Wiz (3 a9, 05 J3 2 A Jlgws

4w (z 93 (o So (Al

f oz (glabaly U yShos (g )18 )b oo ol 31 B3 g5 8 Jlgs

float ( char (o int (!

S 50 25 polie b oSS )T SO ©hpo AN Jlgw

o0y o0 planil )b wom ddls 19,8 jetwd 255 dalad o

Jt:' 3 (z S (e )L.' heo (1




